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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]

|
|_ETcl
400 __—.— setVIl_ETc I
—0— setVl _fgRec
—0—  setVI_WN A 7 '*,""""'
300 1 —— s|SetVI :

A : buA‘
PRI e h

100 A A ‘u




1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VI _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

Plot ['VI pcterr’, 'VO pcterr’, 'VN pcterr’]

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VO _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VN_pcterr’'] missing

0.0

0.2 0.4 0.6 0.8

1.




Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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P3-4

BfiE) | GEBATK (RY) | EHE (EA/K) [ XS R

07:15 278 150. 0 E BRi&e07:15 Bzl (GRAERESE)
07:50 278 150.0 5| {Ri%@07:50 Bz (FAERSE)
08:25 278 150.0 5| {Rike08:25 Bz (KRAEEHS)
09:00 278 150. 0 E BRi&@09:00 Bah (RAERE)
09:30 278 150.0 5| {Ri%@09:30 B3 (FAMERSE)
10:10 278 150.0 El BRi&e10:10 Bz CGRAEESE)
10:45 278 150.0 5| {Ri%010:45 B3 (RAERSE)
11:20 278 150.0 El BRige11:20 Bz GRAEREE)
11:55 278 150.0 =l {Rige11:55 B3 (RAERSE)
12:30 278 150.0 E BRige12:30 Bz (GRAERESE)
13:05 278 150. 0 F BRige13:05 Bz (GRAERERE)
13:40 278 150.0 E BRige13:40 Bz CGRAERSE)
14:10 278 150.0 = Ri%e14:10 B (RERESE)
14:40 278 150.0 E BRige14:40 Bz CGRAERESE)
15:10 278 150.0 E|  {Rige15:10 B3h (RE{EREE)
15:40 278 150.0 | Ri%e15:40 B (REAERESE)
16:15 278 150.0 El BRige16:15 Bzl (GRAERESE)
16:55 278 150.0 5| {Ri%e16:55 B3 (RAERSE)
24t]5004.0 (18)%) 2700. 0 32 KEC: 2080.0, PH: 5.8

[E;&EC 5590.0 K5, EiNF{KECAE & M%ER

#[EKECZE (2400. 0 vs 5590.0) 15




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-4_0, Day=60 (2025-05-28)
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Warning: lcol [FVI',| "FVO’'] missing
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Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5. 8

Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-4

BfiE) | GEBATK (RY) | EHE (EA/K) [ XS R

06:30 278 150.0 (Z=| 1Ri%006:30 Bzh (REERESE)
07:05 278 150.0 (Z=| 1BRi&e07:05 Bzh (REERSE)
07:45 278 150.0 |Z=| 1{Ri&e07:45 Bz CGREAHERSE)
08:50 278 150. 0 E  1BRi&e08:50 Bl (RAERE)
09:35 278 150.0 (Z=| {Ri%@09:35 B (FEAHEHSE)
10:15 278 150.0 (& =| {Ri%e10:15 B (GREAERSE)
10:50 278 150.0 |Z=| 1BRiZ@10:50 Bzh (KREERESE)
11:25 278 150.0 (& =| 1BRige11:25 Bzh (REEFRESE)
12:00 278 150.0 (& =| 1BRiB@12:00 Bzh (KREEREE)
12:35 278 150.0 (2 =| 1BRige12:35 Bzh (REERESE)
13:10 278 150.0 FA| 1BRi%@13:10 B3h (RAEREE)
13:45 278 150.0 FA| 1BRi%@13:45 B3h (KRAHERSE)
14:15 278 150.0 FA| 1Bi%@14:15 B3h (RAHEREE)
14:45 278 150.0 FH| 1Ri%e14:45 Bzh (RAERSE)
15:15 278 150.0 (& =| 1BRige15:15 Bzh (REEREE)
15:45 278 150.0 | =| 1Ri%e15:45 Bz (kBEREE)
16:20 278 150.0 (Z=| 1RiZe16:20 Bzh (REERESE)
17:15 278 150.0 (% =| 1Ri%@17:15 Bz (REERSE)
24t]5004.0 (18)%) 2700. 0 32 KEC: 2080.0, PH: 5.7

[E;&EC 5373.0 K5, EiNF{KECAE & M%ER

#H[EKECE (2393.0 vs 5373.0) 15




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-4_0, Day=59 (2025-05-27)
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Warning: lcol [FVI',| "FVO’'] missing
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Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.7

Warning: lcol ['PHB’,| 'PHC’'] missing
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Warning: col "M W 1] missing
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P3-4

BfiE) | GEBEETIC (F)) | EM=E (BH/K) | KR R

07:25 278 150.0 = RRig007:25 Bzh (RAEES)
08:05 278 150. 0 E|  {Rig@08:05 Bah (RE{ERSE)
08:45 278 150.0 = {Ri%e08:45 B (RFAERSE)
09:25 278 150.0 E 1BRi&@09:25 Bzl (GRAEREE)
10:10 278 150.0 & =| 1Ri%e10:10 Bzh (GkAEREE)
10:45 278 150.0 (Z=| {Ri&e@10:45 Bzl (RAHERESE)
11:20 278 150.0 El BRi&e11:20 Bz CGRAEESE)
11:55 278 150.0 =l RRiBe11:55 Bz (REAEEE)
12:30 278 150.0 = RiB012:30 B3 (REAEESE)
13:05 278 150.0 F BRige13:05 Bz (GRAERSE)
13:40 278 150.0 = Ri%013:40 B (REAERESE)
14:25 278 150.0 =l RiB014:25 Bz (REAEESE)
15:30 278 150.0 E|  {Ri1&@15:30 B3h (RE{EREE)
16:50 278 150.0 5| 1Rike16:50 Bz (REAERS)
2it]3892.0 (14)%) 2100.0 3EGHKEC: 2080.0, PH: 5.6
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